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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 What is auto oxidation? Give its mechanism.

		  ñdV… Am°³grH$aU ³¶m hmoVm h¡? BgH$s {H«$¶m{d{Y Xr{OE&

	 (ii)	 Define memory effects with one example.

		  ñ‘¥{V à^md H$mo EH$ CXmhaU g{hV n[a^m{fV H$s{OE&

	 (iii)	 Explain Neber Rearrangement.

		  Zo~a nwZ{d©Ý¶mg g‘PmB¶o&

	 (iv)	 Draw conformations of ethane and butane.

		  EWoZ VWm ã¶yQ>oZ Ho$ g§ê$nU ~ZmBE&

	 (v)	 Write electronic configuration of 1∆g and 1∑g singlet 
oxygen.

		  1∆g VWm 1∑g qg½boQ> Am°³grOZ H$m Bbo³Q´>mo{ZH$ {dÝ¶mg {b{IE&

	 (vi)	 What is Norrish type II process?

		  Zm°[ae àH$ma - II {d{Y ³¶m hmoVr h¡?

	 (vii)	What is photoisomerization?

		  àH$me g‘md¶dVm ³¶m hmoVr h¡?

	 (viii)	What are cheletropic reactions?

		  Ho$boQ´>mo{nH$ A{^{H«$¶mE± ³¶m hmoVr h¢?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 08 A§H$m| H$m h¡&
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2)	 Give mechanism of Arndt Eistert synthesis.

	 AmÝQ>© AmBñQ>Q>© g§íbofU H$s {H«$¶m{d{Y Xr{OE&

3)	 Write the name and mechanism for the following reactions :-

	 {ZåZ{b{IV A{^{H«$¶mAm| H$m Zm‘ d {H«$¶m{d{Y {b{IE …-

	 (i)	 	   Peracid  	  

	 (ii)	

N –OH

	 H SO2 4  	 H N

	

4)	 Explain bonding and anti bonding orbitals with reference to 
LCAO method.	

	 LCAO {d{Y go ~ÝYr Ed§ {dnarV ~ÝYr AmpÊdH$ H$jH$m| H$mo g‘PmB¶o&

5)	 What are sigmatropic  rearrangements? Give their stereo 
chemistry.

	 {g½‘mQ´>m°{nH$ nwZ{d©Ý¶mg ³¶m hmoVo h¢? BZH$s {Ì{d‘agm¶Z{dkmZ Xr{OE&

6)	 Explain the energy transfer process with examples.

	 D$Om© ñWmZm§VaU {d{Y CXmhaU g{hV g‘PmBE&

7)	 Discuss non-vertical excited state.

	 J¡a D$Üdm©Ya CÎmo{OV AdñWm H$m dU©Z H$s{OE&

8)	 Describe the various conformations of n-butane and their 
relative stability.

	 n-ã¶yQ>oZ Ho$ g§ê$nUm| Ed§ CZH$s Amno{jH$ ñWm{¶Ëd H$s ì¶m»¶m H$s{OE&

9)	 Describe stereoelectronic effects in heterocycles.

	 {df‘MH«$s¶ ¶m¡{JH$m| ‘| {Ì{d‘ Bb¡³Q´>m°{ZH$ à^mdm| H$s {ddoMZm H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Discuss the conformational effects in six membered  
heterocyclic rings.

	 N>… gXñ¶ {df‘MH«$s¶ db¶m| ‘| g§ê$nUr¶ à^mdm| H$m dU©Z H$s{OE&

11)	 Explain the following :-

	 (a)	 Cope rearrangement

	 (b)	 [2+2] cycloaddition of ketenes

	 (c)	 1,7 sigmatropic shift of an alkyl group

	 (d)	 Claisen rearrangement

	 {ZåZ{b{IV H$mo g‘PmB¶o …-
	 (A)	H$mon nwZ{d©Ý¶mg
	 (~)	H$sQ>rZm| H$m [2+2] MH«$s¶ ¶moJmË‘H$
	 (g)	Eo{bb g‘yh H$m 1,7 {g½‘mQ´>m°{nH$ n[adV©Z
	 (X)	³boOZ nwZ{d©Ý¶mg

12)	 Discuss orbital symmetry correlation diagram process for 
analysing pericyclic reactions.

	 H$jH$ g‘{‘{V ghg§~§Y AmaoI {d{Y Ûmam noarMH«$s¶ A{^{H«$¶mAm| H$m 
{díbofU g‘PmB¶o&
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13)	 Explain with mechanism :

	 (i)	 1,2 shift by benzavalene intermediate.

	 (ii)	 1,3 alkyl shift through prismane

	 (iii)	 Photochemical nucleophilic substitution reaction of  
	 aromatic compounds.

	 {H«$¶m{d{Y g{hV g‘PmBE …-
	 i)	 ~oÝOmdobrZ ‘Ü¶dVu Ûmam 1,2 n[adV©Z

	 (ii)	 {àg‘mZo Ûmam 1,3 EobH$sb n[adV©Z

	 (iii)	 Eoamo‘¡{Q>H$ ¶m¡{JH$m| H$m àH$meamgm¶{ZH$ Zm{^H$ñZohr à{VñWmnZ 
	 A{^{H«$¶m&


